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Instructions :

1) All questions are compulsory.

2) Each question carries 1 mark.

3) Answers should be marked in the given OMR answer sheet by darkening
the appropriate option.

4) Follow the instructions given on OMR sheet.

5) Rough work shall be done on the sheet provided at the end of question
paper.

...............................................................................................................................................

Seat
No.

1. Who is known as founder of Soil Geography?

a) Dokuchaev c) Glinka

b) Prescott d) Marbut

‘¥Xm ŷJmobemñÌmMo OZH$ åhUyZ H$moUmg AmoiIbo OmVo?

A) S>>moH$Mmoìh² H$) ½brÝH$m

~) àogH$m°Q> S>) ‘m~©Q>
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2. Which parameter is used for the expressed saline and alkaline character of

soil?

a) rH c) bH

b) pH d) cH

emñÌmMo OZ

A) rH H$) bH

~) pH S>) cH

3. In which climatic condition lateritic soil is found?

a) Hot and dry c) Hot and humid

b) Cold d) Semi arid

H$moUË¶m hdm‘mZ n[apñWVr‘Ü¶o b°Q>oam{Q>H$ ‘¥Xm AmT>iVo?

A) CîU d H$moaS>o H$) CîU d X‘Q>

~) W§S> S>) AY©ewîH$

4. Which property of soil is related to size of soil particles?

a) Soil morphology c) Soil Texture

b) Soil Structure d) Soil colour

‘¥XoMm H$moUVm KQ>H$ ‘¥XoÀ¶m H$Um§À¶m AmH$mamg§~§YrV Amho?

A) ‘¥Xm ~møén H$) ‘¥XoMm nmoV

~) ‘¥XoMm aMZm S>) ‘¥XoMm a§J
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5. Which colour of soil have enriched in organic matter?

a) Red c) Black

b) Yellow d) Grey

Imbrbn¡H$s H$moUË¶m a§JmÀ¶m ‘¥XoV g|{Ð¶ KQ>H$mMo à‘mU OmñV AgVo?

A) bmb H$) H$mir

~) {ndir S>) H$aS>r

6. Which sea has the highest salinity?

a) Arabian Sea c) Dead Sea

b) Mediterean Sea d) Black Sea

H$moUË¶m g‘wÐmMr jmaVm gdm©V OmñV Amho?

A) Aa~r g‘wÐ H$) ‘¥V g‘wÐ

~) ŷ‘Ü¶ g‘wÐ S>) H$mim g‘wÐ

7. What does the centre of the wind rose shows?

a) Northwords c) Southwaords

b) Calm d) Storm

dmVnwînmMm ‘Ü¶^mJ H$m¶ Xe©{dVmo?

A) CÎmaoH$S>rb H$) X{jUoH$S>rb

~) em§V S>) dmXir
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8. Which is the deepest ocean trench in the world?

a) Mariana c) Kuril

b) Japan d) Peru

OJmVrb gdm©V Imob gmJar JVm© H$moUVr?

A) ‘[a¶mZm H$) ³¶wamBb

~) OnmZ S>) noé

9. How the thermal range of temperature of the closed sea as compare to the

open sea?

a) Minimum c) Maximum

b) Similar d) Average

Iwë¶m ‘hmgmJamMr dm{f©H$ Vmn‘mZ H$jm ~§{XñV ‘hmgmJamnojm H$er AgVo?

A) H$‘r H$) OmñV

~) gmaIrM S>) gamgar

10. Which is the most highest element in the salinity of oceanic water?

a) Sodium Cloride c) Calcium Carbonate

b) Sodium Carbonate d) Calcium Cloride

gmJa jmaVoVrb gdm©V OmñV à‘mUmV KQ>H$ H$moUVm AmT>iVmo?

A) gmoS>r¶‘ ³bmoamB©S> H$) H$°pëe¶‘ H$m~m}ZoQ>

~) gmoS>r¶‘ H$m~m}ZoQ> S>) H°$pëe¶‘ ³bmoamB©S>
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11. Which type of climate is observed in India?

a) Cold b) Hot

c) Sub-tropical Monsoonal d) None of the above

^maVmV H$moUË¶m àH$maMo hdm‘mZ AmT>iVo?

A) erV ~) CîU

H$) g‘erVmoîU ‘m¡g‘r S>) ¶mn¡H$s Zmhr

12. Match List-1 with List-2 and select the correct answer using the codes

given below:

List-1 (Lake) List-2 (State)

1. Pulicat lake a. Odisha

2. Wular lake b. Andhra Pradesh

3. Chilka Lake c. Maharashtra

4. Lonar lake d. Jammu Kashmir

(a) 1-b, 2-c, 3-a, 4-d (b) 1-b, 2-d, 3-?. 4-?

(c) 1-a, 2-d, 3-b, 4-c (d) 1-c, 2-a 3-b, 4-d

¶mXr 1 bm ¶mXr 2 er Owidm Am{U Imbrb H$moS> dmnéZ ¶mo½¶ CÎma {ZdS>m.

1. nwbH$sV Vbmd A) Amo[agm

2. ~wba Vbmd H$) Am§Y« n«Xoe

3. {MëH$m Vbmd ~) ‘hmamï´>

4. bmoUma gamoda S>) Oå‘y H$mí‘ra

A) 1-~, 2-H$, 3-A, 4-S> ~) 1-~, 2-S>, 3-A, 4-H$

H$) 1-A, 2-S>, 3-~, 4-H$ S>) 1-H$, 2-A, 3-~, 4-S>
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13.  What is the meeting point of the Western Ghats and the Eastern Ghats?

(a) Nilgiri Hills (b) Mahadev Hills

(c) Cardamom Hills. (d) None of the above

npíM‘ KmQ> Am{U nyd© KmQ> ¶m§Mo {‘bZ q~Xÿ H$m¶ Amho?

A) {Zb{Jar ~) ‘hmXod Q>oH$S>çm

H$) H$mS>©‘‘ Q>oH$S>çm S>) darbn¡H$s H$mhrhr Zmhr

14. The information (data) related to sea surface elevation will be available

from Indian satellite.

(a) SARAL (b) GSAT-7

(c) IRNSS-1A (d) RISAT-1

gmJar nwð>^mJmÀ¶m C§Mr g§X^m©Vrb ‘m{hVr (gm§p»¶H$s) ............ ¶m ^maVr¶ CnJ«hmÛmao {‘iVo.

A) SARAL ~) GSAT-7

H$) IRNSS-1A S>) RISAT-1

15. ..................... is the world's largest producer of sugarcane.

(a) India (b) Brazil

(c) Cuba (d) USA

................. hm OJmVrb gdm©V ‘moR>m D$g CËnmXH$ Xoe Amho.

A) ^maV ~) ~«mPrb

H$) ³¶w~m S>) ¶yEgE
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16 . Which among the following is the cleanest form of energy ..................

(a) Nuclear power (b) Natural gas

(c) Fossil fuels (d) Solar energy

Imbrbn¡H$s H$moUVo D$O}Mo gdm©V ñdÀN> ê$n Amho ................

A) AUye³Vr ~) Z¡g{J©H$ dm¶y

H$) Ordmí‘ B§YZ S>) gm¡a COm©

17. Which river has the largest basin in India?

(a) Narmada (b) Kaveri

(c) Indus (d) Ganga

^maVmVrb gdm©V ‘moR>o Imoao H$moUË¶m ZXrMo Amho?

A) Z‘©Xm ~) H$mdoar

H$) qgYy S>) J§Jm

18. What kind of resources is fallow land?

a) Latent b) Non-renewable

c) Manmade d) Expressed

nS>rH$ O‘rZ H$moUË¶m àH$maMr gmYZg§nÎmr Amho?

A) gwßV ~) j¶

H$) ‘mZdr S>) ì¶³V
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19. Which of the following countries has the highest proportion of equatorial

evergreen forests?

a) Russia b) Canada

c) Brazil d) Japan

Imbrbn¡H$s H$moUË¶m XoemV {dfwdd¥Îmr¶ gXmh[aV dZo gdm©{YH$ à‘mUmV AmT>iVmV?

A) a{e¶m ~) H°$ZS>m

H$) ~«mPrb S>) OnmZ

20. Which of the following Coal is known as high quality?

a ) Anthracite b) Bituminous

c) Lignite d) Peat

Imbrb n¡H$s H$moUVm XJS>r H$moigm CÀM àVrMm åhUyZ AmoiIbm OmVmo?

A) A°ÝW«mgmB©Q> ~) {~Qw>{‘Zg

H$) {b½ZmB©S> S>) nrQ>

21. Which gas has increased in the atmosphere due to deforestation?

a) CO
2

b) O
2

c) N
2

d) None of these

O§Jb VmoS>r‘wio dmVmdaUmV H$moUVm dm¶y dmT>bm Amho?

A) CO
2

~) O
2

H$) N
2

S>) ¶mn¡H$s Zmhr



ENT - 42

9

22. How much is the percentage of saline water out of total water in the world?

a) 70 b) 80

c) 90 d) None of these

OJmVrb EHy$U nmÊ¶mn¡H$s Imao nmUr {H$Vr Q>³Ho$ Amho?

A) 70 ~) 80

H$) 90 S>) ¶mn¡H$s Zmhr

23. What is it called when there is extensive soil erosion?

a) Drain-like erosion b) Sheet erosion

c) Composite erosion d) None of these

{dñV¥V à‘mUmV O{‘ZrMr Yyn Pmë¶mg Ë¶mbm H$m¶ åhUVmV?

A) ZmbrgÑí¶ Yyn ~) MmXa Yyn

H$) g{‘l Yyn S>) ¶mn¡H$s Zmhr

24. The method of crop combination of Weaver was used for first time in which

country?

a) United States b) France

c) Germany d) Australia

{ddaÀ¶m {nH$ EH$ÌrH$aUmMr nÕV àW‘ H$moUË¶m Xoem‘Ü¶o Cn¶moJmV AmUÊ¶mV Ambr?

A) g§¶w³V g§ñWmZo ~)  ’«$mÝg

H$) O‘©Zr S>) Am°ñQ´>o{b¶m
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25. In which land of the world is extensive grain farming practiced in developed

countries?

a) Mountainous b) Grasslands and Plains

c) Hills d) None of these

OJm‘Ü¶o {dH${gV XoemV AmT>iUmar {dñV¥V YmÝ¶ eoVr H$moUË¶m ŷ-àXoemV Ho$br OmVo?

A) nd©Vr¶ ~) JdVmi Hw$aUo d ‘¡XmZo

H$) S>m|Jami àXoe S>) ¶mn¡H$s Zmhr

26. Who proposed the method of Crop Combination?

a) Von Thunen b) Weaver

c) Wegener d) Newton

{nH$ EH$ÌrH$aUmMr nÕV H$moUr ‘m§S>br?

A) ìhmZ Ï¶wZoZ ~) {ddaH$

H$) doJZa S>) Ý¶yQ>Z

27. Which of the following is not an economic problem of agriculture?

a) Traditional seeds b) Climate related problems

c) Inadequate irrigation d) Lack of capital

Imbrb n¡H$s H$moUVr eoVrMr Am{W©H$ g‘ñ¶m Zmhr?

A) na§namJV ~r-{~¶mUo ~) hdm‘mZ {df¶ g‘ñ¶m

H$) Anwao ObqgMZ S>) ^m§S>dbmMm A^md
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28. On which river is Gokak Falls?

a) Ghataprabha b) Krishna

c) Cauvery d) Ganga

JmoH$mH$ Y~Y~m H$moUË¶m ZXrda Amho?

A) KQ>à^m ~) H¥$îUm

H$) H$mdoar S>) J§Jm

29. Hill station Shimla is in which state?

a) Himachal Pradesh b) Jammu and Kashmir

c) Uttarakhand d) Haryana

{e‘bm ho W§S> hdoMo {R>H$mU H$moUË¶m amÁ¶mV Amho?

A) {h‘mMb àXoe ~) Oå‘w Am{U H$mí‘ra

H$) CÎmamI§S> S>) h[a¶mUm

30. Which is the famous tiger sanctuary in Maharashtra?

a) Tadoba b) Gir

c) Dajipur d) Kaziranga

‘hmamï´>mVrb dmKmgmR>r à{gÕ Agbobo A^¶maÊ¶m H$moUVo?

A) VmS>mo~m ~) Jra

H$) XmOrnwa S>) H$mPra§Jm
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31. World tourism day is celebrating on ................. every year?

a) September 27 b) September 12

c) May 15 d) None of these

OmJ{VH$ n¶©Q>Z {XZ H$Yr gmOam Ho$bm OmVmo?

A) 27 gßQ>|~a ~) 12 gßQ>|~a

H$) 15 ‘o S>) ¶mn¡H$s Zmhr

32. India Tourism Development Corporation was established?

a)1975 b)1976

c) 1966 d)1965

^maVr¶ n¶©Q>Z {dH$mg ‘hm‘§S>imMr ñWmnZm H$moUË¶m gmbr Pmbr?

A) 1975 ~) 1976

H$) 1966 S>) 1965

33. Who postulated the Central place theory?

A. Christaller B. Malthus

C. Davis D. Mackinder

‘Ü¶dVu ñWb {gÕm§V H$moUr ‘m§S>bm?

A) {H«$ñbQ>a ~) ‘mëWg

H$) S>opìhg S>) ‘°qH$S>a
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34. Which city in India has Mountain situation?

A. Kolkata B . Allahabad

C. Darjeeling D. Chandigarh

^maVmVrb Imbrb n¡H$s H$moUË¶m ehambm nd©Vr¶ pñWVr AmhoV?

A) H$mobH$mVm ~) Abmhm~mX

H$) Xm{O©qbJ S>) M§{XJS>

35. Which situation of towns creates the "Ghost Towns"?

A. Agriculture situation B. Mineral situation

C. Forest situation D. Regional situation

ZJam§À¶m H$moUË¶m pñWVr‘wio " ŵVmQ>H$sMr ZJao' {Z‘m©U hmoD$ eH$VmV?

A) H¥$fr joÌ pñWVr ~) I{ZO joÌ pñWVr

H$) dZjoÌ pñWVr S>) àmXo{eH$ pñWVr

36. Which of following city is known as religious city?

A. New York B. London

C. Mumbai D. Macca

Imbrbn¡H$s H$moUVo eha Ym{‘©H$ eha åhUyZ AmoiIbo OmVo?

A) Ý¶y¶m°H©$ ~) b§S>Z

H$) ‘w§~B© S>) ‘³H$m
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37. Which is city of Great Britain is known as educational center?

A. London B. Oxford

C. Wales D. New York

J«oQ> {~«Q>Z‘Yrb H$moUVo eha e¡j{UH$ H|$Ð åhUyZ AmoiIbo OmVo?

A) b§S>Z² ~) Am°³g’$S>©

H$) doëg S>) Ý¶y¶m°H©$

38. Which of the following is the capital of West Bengal state?

a) Patna b) Raipur

c) Kolkata d) Dispur

Imbrbn¡H$s H$moUVo npíM‘ ~§Jmb amÁ¶mMo amOYmZrMo eha Amho?

A) nQ>Zm ~) am¶nya

H$) H$mobH$mVm S>) {Xgnya

39. Which of the following city is known as Tourist city?

a) Shimla b) Mumbai

c) Delhi d) Pune

n¶©Q>Z eha åhUyZ Imbrbn¡H$s H$moUVo eha AmoiIbo OmVo?

A) {e‘bm ~) ‘w§~B©

H$) {Xëbr S>) nwUo
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40. Jayakwadi multi-purpose scheme in Maharashtra is situated on which river?

a) Panchganga b) Bhima

c) Godavari d) Vashti

‘hmamï´>mVrb Om¶H$dmS>r hr ~hþCÔoer¶ ¶moOZm H$moUË¶m ZXrda Amho?

A) n§MJ§Jm ~) ^r‘m

H$) JmoXmdar S>) dm{eï>r

41. From which tree kaat is made?

a) Khair b) Run

c) Gum d) Acacia

H$moUË¶m d¥jmnmgyZ H$mV V¶ma H$aVmV?

A) I¡a² ~) nig

H$) {haS>m S>) ~m ŷi

42. Which tree leaves are used for Beedi industry

a) Tendu b) Khair

c) Cotton d) Tamarind

{dS>r CÚmoJmgmR>r H$moUË¶m PmS>mMr nmZo dmnaVmV.

A) V|Xÿ ~) I¡a

H$) H$mnyg S>) qMM
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43. Which of the following is a thorny plant?

a) Saag b) Shisam

c) Sandalwood d) Cactus

Imbrbn¡H$s H$mQ>oar dZñnVr H$moUVr?

A) gmJ ~) {eg‘

H$) M§XZ S>) {ZdSw>§J

44. As per 2011 census which rank of Maharashtra in India in terms of

population.

a) Second b) Third

c) Fourth d) Fifth

2011 À¶m OZJUZoZwgma ‘hmamï´>mMm bmoH$g§»¶oÀ¶m ~m~VrV ^maVmV {H$Vdm H«$‘m§H$ bmJVmo.

A) Xþgam ~) {Vgam

H$) Mm¡Wm S>) nmMdm

45. The study of population growth rates and patterns falls under which subfield

of population geography?

a) Demography b) Cartography

c) Anthropology d) Sociology

bmoH$g§»¶m dmT>rMm Xa Am{U Z‘wÝ¶m§Mm Aä¶mg bmoH$g§»¶oÀ¶m ŷJmobmÀ¶m H$moUË¶m CnjoÌmV ¶oVmo?

A) OZg§»¶memó ~) ZH$mememñÌ

H$) ‘mZdd§eemó S>) g‘mOemó
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46. What term refers to the movement of people from one place to another?

A) Immigration b) Emigration

c) Migration d) Relocation

bmoH$m§À¶m EH$m {R>H$mUmhÿZ Xþgè¶m {R>H$mUr OmÊ¶mgmR>r H$moUË¶m eãXmMm AW© hmoVmo?

A) AmñWbm§VaU ~) {Z:ñWbm§VaU

H$) ñWbm§Va S>) nwZñWm©nZm

47. What stage of the demographic transition death rate? model is characterized

by high birth rate and high

a) Stage 1 b) Stage 2

c) Stage 3 d) Stage 4

OZgm§p»¶H$s¶ g§H«$‘U àVr‘mZmMm H$moUVm Q>ßnm CÀM OÝ‘ Xa Am{U CÀM ‘¥Ë¶y XamZo Xe©{dbm OmVmo?

A) Q>ßnm-1 ~) Q>ßnm-2

H$) Q>ßnm-3 S>) Q>ßnm-4

48. The book 'Sidhanth Shiromani was written by

A) Bhaskaracharya B) Brahmagupta

C) Varaha Mihir D) Aryabhatta

"{gYm§V {eamo‘Ur' hm J«§W H$moUr {b{hbm?

A) ^mñH$amMm¶© ~) ~«÷JwßV

H$) damhm {‘{ha S>) Am¶©̂ Å>
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49. As per ancient Indian Geographer carth is divided in to continents?

A) 3 B) 5

C) 7 D) 19

àmMrZ ^maVr¶ ^m¡Jmo{bH$ V§km§Zr n¥ÏdrMo {d^mOZ {H$Vr I§S>mV Ho$bo?

A) 3 ~) 5

H$) 7 S>) 9

50. Who is the father of modern Geography?

A) Davis B) Humboldt

C) Blache D) Ratzel

AmYw{ZH$ ŷJmobmMo OZH$ H$moU AmhoV?

A) S>opìhg ~) h§~moëQ>

H$) ãbme S>) amQ²>Pob

51. Which one of the following book is written by Humboldt?

A) Cosmos B) D Erdkunde

C) Europe D) Russia

h§~moëQ> ¶m§Zr Imbrbn¡H$s H$moUVm J«§W {b{hbm?

A) H$m°g‘m°g ~) S>r ES>©Hw§$S>o

H$) ¶yamonm S>) a[e¶m
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52. Who is the father of the concept Possibilism?

A) Davis B) Humboldt

C) Blache D) Ratzel

"g§̂ ddmX' g§H$ënZoMo OZH$ H$moU AmhoV?

A) S>opìhg ~) h§~moëQ>

H$) ãbme S>) amQ²>Pob

53. In which of the following book, "Payas' concept was described by Blache?

A) Annales-de-Geographie B) Atlas Generate

C) Geographie Universelle D) Geographie-de-la-France

Imbrbn¡H$s H$moUË¶m J«§WmV ãbme ¶m§Zr "bKy ^m¡Jmo{bH$ joÌ-nm¶g' g§H$ënZm ñnï> Ho$br?

A) AZëg-Xr-{OAmoJ«m’$s ~) gm‘mÝ¶ ZH$mem g§J«h

H$) {dœ ŷJmob S>) ’«$mÝgMm ŷJmob

54. Which one of the following is related with American school of Geographical

thought?

A) W M Devis B) Jean Brunhes

C) Ratzel D) Ritter

Imbrbn¡H$s H$moU A‘o[aH$Z ^m¡Jmo{bH$ {dMmaYmaoer g§~§{YV Amho?

A) S>ãbw E‘ S>opìhg ~) OrZ ~w«Ýg

H$) amQ²>Pob S>) [aQ>a
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55 . What type of the location "Japan" has?

a) Continental Location b) Maritime Location

c) Vicinal Location d) None of these

"OnmZ' ¶m XoemMo ñWmZ H$moUË¶m àH$maMo Amho?

A) ŷI§S>r¶ ñWmZ ~) gmJar ñWmZ

H$) nañna gm{ZÜ¶mMo ñWmZ S>) ¶mn¡H$s Zmhr

56. Who put forth the concept of Heart-Land?

a) Mackinder b) Spykmane

c) Aristotle d) Blache

öX¶ñWb g§H$ënZm H$moUr ‘m§S>br?

A) ‘°H$s¨S>a ~) ñnmB©H$‘Z

H$) A°arñQ>m°Q>b S>) ãbme

57. What power did Spikeman emphasize?

a) Land b) Air

c) Sea Coast d) None of these

ñnmB©H$‘ZZo H$moUË¶m gm‘Ï¶m©da ^a {Xbm?

A) ŷ ~) hdmB©

H$) gmJar {H$Zmam S>) ¶mn¡H$s Zmhr
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58. Which River is the source of water dispute among Maharashtra, Karnataka

and Andhra Pradesh?

a) Ganga b) Kaveri

c) Krishna d) Savitri

‘hmamï´>, H$Zm©Q>H$ d Am§Y«àXoe ¶m amÁ¶m§‘Ü¶o H$moUË¶m ZXrÀ¶m nmÊ¶mÀ¶m dmQ>nmdê$Z dmX Amho?

A) J§Jm ~) H$mdoar

H$) H¥$îUm S>) gm{dÌr

59. Which of the following countries have Ganga river water dispute?

a) India and Pakistan b) India and China

c) India and Bangladesh d) India and Shrilanka

J§Jm ZXr nmUr dmQ>n V§Q>m H$moUË¶m XmoZ XoemV Amho?

A) ^maV d nm{H$ñVmZ ~) ^maV d MrZ

H$) ^maV d ~m§½bmXoe S>) ^maV d lrb§H$m

60. The construction of which dam has created water dispute between India and

Bangladesh?

a) Farakka b) Gangapur

c) Bhakra-Nangal d) Sardar Sarovar

H$moUË¶m YaUmÀ¶m ~m§YH$m‘m‘wio ^maV d ~m§½bmXoemV nmUr dmQ>nm{df¶r dmX {Z‘m©U Pmbm Amho?

A) ’$am³H$m ~) J§Jmnya

H$) ^mH«$m-Zm§Jb S>) gaXma gamoda
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61. In Which state is the Sardar Sarovar Project located?

a) Andhra Pradesh b) Gujarat

c) Panjab d) Karnataka

gaXma gamoda àH$ën H$moUË¶m amÁ¶mV Amho?

A) Am§Y« àXoe ~) JwOamV

H$) n§Om~ S>) H$Zm©Q>H$

62. Which of the following are major elements of a map?

a. Map scale b. Direction

c. 'A' and 'B' Both d. None of these

Imbrbn¡H$s H$moUVr ZH$memMr à‘wI A§Jo AmhoV?

A) ZH$mem à‘mU ~) {Xem

H$) "A' d "~' XmoÝhr S>) ¶mn¡H$s Zmhr

63. Convert the fractional scale 1:40000 into verbal seale according to the metric

measurement system.

a. 1 cm = 4 km. b. 1 cm = 4 m

c. 1 cm = 40 m d. 1 cm = 400 m

1:40000 ¶m A§H$ à‘mUmMo ‘o{Q´>H$ ‘mnZ nÕVrZwgma eãX à‘mUmV énm§Va H$am.

A) 1 go.‘r. = 4 {H$.‘r. ~) 1 go.‘r. = 4 ‘r.

H$) 1 go.‘r. = 40 ‘r. S>) 1 go.‘r. = 400 ‘r.
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64. If a plain paper is kept touching a pole in Zenithal projections, then these

projections are called .....................

a. Zenithal Gnomonic Projection

 b. Zenithal Equatorial Projection

c. Zenithal Polar Projection

d. Zenithal Oblique Projection

I‘Ü¶ àjonUm‘Ü¶o gnmQ> H$mJX Yw«dmbm ñne© H$ê$Z R>odë¶mg Ë¶m àjonUm§Zm H$m¶ åhUVmV?

A) I‘Ü¶ Jmo‘wIr àjonU ~) I‘Ü¶ {dfwd¥Îmr¶ àjonU

H$) I‘Ü¶ Y«wdr¶ àjonU S>) I‘Ü¶ {V¶©H$ àjonU

65. In Conical Projections, the latitudes on which the paper cone touches are

called ..................

a) Standard Parallels b) Equator

c) Central Meridian d) Central Latitude

e§Hy$ àjonUmV H$mJXmMm e§Hy$ Á¶m Ajd¥Îmm§Zm ñne© H$éZ OmVmo ¶m Ajd¥Îmm§Zm H$m¶ åhUVmV?

A) à‘mU Ajd¥Îm ~) {dfwdd¥Îm

H$) ‘Ü¶ aoImd¥Îm S>) ‘Ü¶ Ajd¥Îm

66. The Profiles drawn with stack each other are called ..............

a. Latitudinal Profile b. Composite Profile

c. Superimposed Profile d. Projected Profile

AZoH$ nmœ©aofm EH$da EH$ H$mT>ë¶m OmVmV Ë¶m nmœ©aofm§Zm H$m¶ åhUVmV?

A) AZwJm‘r nmûd©aofm ~) g§¶w³V nmûd©aofm

H$) AÜ§¶mamo{nV nmûd©aofm S>) àjo{nV nmûd©aofm
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67. Which slope is observed at the point where the contour lines are drawn at

close distance?

a. Gentle b. Steep

c. Concave d. Convex

g‘moÀM aofm Odi-Odi A§Vamda H$mT>ë¶m AgVrb Va Ë¶m {R>H$mUr H$moUVm CVma AgVmo?

A) ‘§X ~) Vrd«

H$) A§Vd©H«$ S>) ~{hd©H«$

68. How extend is one-inch maps?

a. 1º latitude and 1º longitude

b. 15' latitude and 15' longitude

c. 30' latitude and 30' longituded.

d. 45' latitude and 45' longitude

EH$ B§Mr ZH$mem§Mm {dñVma {H$Vr AgVmo?

A) 10 Ajd¥Îm d 10 aoImd¥Îm ~) 150 Ajd¥Îm d 150 aoImd¥Îm

H$) 300 Ajd¥Îm d 300 aoImd¥Îm S>) 450 Ajd¥Îm d 450 aoImd¥Îm

69. Which colour is used for rail network in topographical maps?

a. Black b. Blue

c. Red d. Green

ŷñWbXe©H$ ZH$mem§‘Ü¶o aoëdo OmirgmR>r H$moUVm a§J {Xbm OmVmo?

A) H$mù¶m ~) {Zù¶m

H$) bmb S>) {hadm
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70. Which instrument is used to measure the temperature?

a. Cup Anemometer b. Barograph

c. Thermometer d. Wind Vane

hdoMo Vmn‘mZ ‘moOÊ¶mgmR>r H$moUVo CnH$aU dmnabo OmVo?

A) dm¶wdoJ ‘mnH$ ~) dm¶ŵ ma boIH$

H$) Vmn‘mnH$ S>) dm¶w {XemXe©H$

71. Which of the following components can be represented by Isopleth method?

a. Temperature b. Air Pressure

c. Rainfall d. All the above

Imbrbn¡H$s H$moUË¶m KQ>H$mÀ¶m {dVaUmgmR>r g‘‘yë¶ aofm nÕVrMm dmna H$aVm ¶oVmo?

A) Vmn‘mZ ~) dm¶ŵ ma

H$) nO©Ý¶ S>) darb gd©

72 . Which of the following are the characteristics of a computer?

a . Time saving b. Storage capacity

c. Accuracy d. All the above

Imbrbn¡H$s g§JUH$mMr d¡{eîQ>ço H$moUVr?

A) doioMr ~MV ~) gmR>dU j‘Vm

H$) AMyH$Vm S>) darb gd©
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73. Which of the following is an output device of a computer?

a. Mouse b. Keyboard

c. Printer d. Scanner

Imbrbn¡H$s H$moUVo g§JUH$mMo àXmZ (Output) gmYZ Amho?

A) ‘mD$g ~) {H$-~moS>©

H$) qàQ>a S>) ñH°$Za

74. Which type of emitted energy is used in remote sensing?

a. Wind energy b. Solar energy

c. Nuclear energy d. Hydroelectricity

gwXÿa g§doXZm‘Ü¶o H$moUË¶m CËg{O©V CO}Mm dmna Ho$bobm AgVmo?

A) ndZ D$Om© ~) gm¡a D$Om©

H$) AUy D$Om© S>) Ob {dÚwV

75. The sensors which have their own energy are called

a. Active Sensors b. Passive Sensors

c. Military Sensors d. Commercial Sensors

Á¶m g§doXH$m§Zm ñdV:Mr D$Om© AgVo Ë¶m g§doXH$m§Zm H$m¶ åhUVmV?

A) {H«$¶merb g§doXH$ ~) A{H«$¶merb g§doXH$

H$) bîH$ar g§doXH$ S>) ì¶mnmar g§doXH$
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76. GIS Stands for ...................

a. Geographical Input System

b. General Information System

c. Geographical Information System

d. General Input system

GIS Mo nyU© ê$n H$m¶?

A) {OAmoJ«m’$sH$b BZnwQ> {gñQ>r‘ ~) OZab BZ’$m°a‘oeZ {gñQ>r‘

H$) {OAmoJ«m’$sH$b BZ’$m°a‘oeZ {gñQ>r‘ S>) OZab BZnwQ> {gñQ>r‘

77. Who put forth the concept Cycle of Erosion?

a) Carl Ritter b) Alfred Wegener

c) W. M. Davis d) Halford Mackinder

jaU MH«$ g§H$ënZm H$moUr ‘m§S>br?

A) H$mb© [aQ>a ~) Amë’«o$S> doJZa

H$) S>ãbw. E‘. S>opìhmg S>) hb’$moS>© ‘°qH$S>a

78. Which atmospheric process affects on insolation?

a) Absorption b) Reflection

c) Scattering d) All of these

dmVmdaUmVrb H$moUVr {H«$¶m gm¡ae³VrÀ¶m {dVaUmda n[aUm‘ H$aVo?

A) emofU ~) namdV©Z

H$) àgaU S>) ¶mn¡H$s gd©
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79. What are the days called, when Sun reaches Tropic of Cancer or Tropic of

Capricorn?

a) Solstice b) Equinox

c) Earth Day d) Environment Day

gy¶© Á¶m {Xder H$H©$ qH$dm ‘H$ad¥Îmmda nmohMVmo Ë¶m {Xdgm§Zm H$m¶ åhUVmV?

A) Am¶Z{XZ ~) {dfwd{XZ

H$) dgw§Yam {XZ S>) n¶m©daU {XZ

80. Sima is made up of which element?

a) Silica and Magnesium b) Nickel and Ferrous

c) Silica and Aluminum d) Iron and Manganese

gm¶‘m H$moUË¶m ‘ybÐì¶mnmgyZ ~Zbm Amho?

A) {g{bH$m d ‘°½Zo{e¶‘ ~) {ZHo$b d ’o$ag

H$) {g{bH$m d Aë¶w{‘{Z¶‘ S>) bmoh d ‘±JZrO

81. Which of the following is known as a 'Davis's Trio'?

a) Structure. Process. Time

b) Landforms, Erosion, Weathering

c) Structure. Erosion, Time

d) Landforms, Process, Weathering

Imbrbn¡H$s "S>oìhrgMo {ÌHw$Q>' H$moUVo?

A) aMZm, à{H«$¶m, H$mbmdYr ~) ŷê$no, PrO, {dXmaU

H$) aMZm PrO, H$mbmdYr S>) ŷê$no, à{H«$¶m, {dXmaU
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82. Which of the following is not a depositional landform of river?

a) Delta b) Alluvial Fan

c) Flood Plain d) Waterfall

Imbrbn¡H$s H$moUVo ZXrMo g§M¶Z H$m¶© Zmhr?

A) {Ì ŵO àXoe ~) n§ImH¥$Vr ‘¡XmZ

H$) nya ‘¡XmZ S>) Y~Y~m

83. Which of the following is a major economic activity in rural settlements?

a) Trade b) Agriculture

c) Industry d) Transport and Communication

Imbrbn¡H$s H$moUVr J«m‘rU dgmhVrVrb à‘wI Am{W©H$ {H«$¶m Amho?

A) ì¶mnma ~) eoVr

H$) CÚmoJY§Xo S>) dmhVyH$ d XiUdiU

84. Which of the following factors affects population distribution?

a) Relief and Climate b) Mineral and Vegetation

c) Agriculture and Industry d) All of the above

Imbrbn¡H$s bmoH$g§»¶m {dVaUmda H$moUVo KQ>H$ n[aUm‘ H$aVmV?

A) ŷaMZm d hdm‘mZ ~) I{ZOo d dZñnVr

H$) eoVr d CÚmoJY§Xo S>) darb gd©
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85. Who proposed the theory of demographic transition?

a) Frank Notestein b) Malthus

c) Everett Lee d) Zelinski

bmoH$g§»¶m g§H«$‘U {gÕm§V H$moUr ‘m§S>bm?

A) ’«±$H$ Zm°Q>oñQ>mB©Z ~) ‘mëWg

H$) EìhQ>© br S>) PobmoÝñH$s

86. Which of the following factors influences migration from one place of

origin to another?

a) Economic poverty b) Employment

c) Financial opportunity d) All of the above

Imbrbn¡H$s H$moUVo KQ>H$ ‘yi {R>H$mUmnmgyZ Xþgè¶m {R>H$mUr ñWbm§Va H$aÊ¶mgmR>r à^md Q>mH$VmV?

A) Am{W©H$ Jar~r ~) amoOJma

H$) Am{W©H$ g§Yr S>) darbn¡H$s gd©

87. Which element mostly effects on the location of cotton textile industry?

A. Market B. Labour

C. Raw Material D. Climate

gyVr dómoÚmoJmÀ¶m  ñWmnZoda n[aUm‘ H$aUmam ‘hÎdmMm KQ>H$ H$moUVm?

A) ~mOmanoR> ~) ~Oya

H$) H$ÀMm ‘mb S>) hdm‘mZ
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88. Which is the nearest lake of Chicago Iron and Steel centre?

A. Lake Superior B. Lake Eri

C. Lake Michigan D. Lake Huron

{eH$°Jmo ho bmoh nmobmX CÚmoJmMo H|$Ð H$moUË¶m gamodamOdi Amho?

A) gwno[aAa ~) Ear

H$) {‘MrJZ S>) h¶wamoZ gamoda

89. Which is the leading centre of automobile industry in Maharashtra?

A. Pune B. Nagpur

C. Chandrapur D. Amravati

‘hmamï´>mVrb ñd¶§M{bV dmhZ CÚmoJmVrb AJ«oga H|$Ð H$moUVo?

A) nwUo ~) ZmJnwa

H$) M§Ðnya S>) A‘amdVr

90. Which is the leading zone of cotton textile industry in USA?

A. New England B. South Appalachian

C. Alaska D. New York

g§¶w³V g§ñWmZmV gwVr dómoÚmoJmV AJ«oga {d^mJ H$moUVm?

A) Ý¶yy B§½b§S> ~) X{jU Anbo{e¶Z

H$) AmbmgH$m S>) Ý¶y¶m°H©$
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91 . Which factors has importance in the study of Human Geography?

A. Geology B. Geomorphology

C. Natural D. Man and Environment

‘mZdr ŷJmobmÀ¶m Aä¶mgmV Imbrbn¡H$s H$moUË¶m KQ>H$mbm ‘hËd Amho?

A) ŷJ ©̂emó ~) ŷê$nemó

H$) Z¡g{J©H$ S>) ‘mZd d n¶m©daU

92. Which state of India consist Gurgaon automobile industry centre?

A. Haryana B. Punjab

C. Delhi D. Rajasthan

^maVmVrb JwS>Jmd ho ñd¶§M{bV dmhZ CÚmoJ H|$Ð H$moUË¶m amÁ¶mV Amho?

A) h[a¶mUm ~) n§Om~

H$) {Xëbr S>) amOñWmZ

93. Longest Railway route in the world is....

A. Trans-Canadian B. Beijing-Guangzhou line

C. Trans-Siberian D. None of these

OJmVrb gdm©V bm§~ bmoh‘mJ© ............... Amho.

A) Q´>mÝg-H°$ZS>m ~) ~rqOJ-JwAm§JPmoD$ bmB©Z

H$) Q´>mÝg-g¡~o[a¶Z S>) ¶mn¡H$s Zmhr
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94. Which of the following instrument is using in Plane Table Survey?

a. Alidade b. Plumb bob

c. Trough Compass d. All of these

Imbrbn¡H$s H$moUVo CnH$aU g‘Vb ’$bH$ ¶§Ì gd}jmV dmnabo OmVo?

A) SXe©aoIr ~) Amoi§~m

H$) Mw§~H$s¶ hmoH$m¶§Ì S>) ¶mn¡H$s gd©

95. Who is the Founder of Population Geography?

a. Carl Ritter b. Fredrich Ratzel

c. G. T. Trewartha d. Alfred Wegener

Imbrbn¡H$s bmoH$g§»¶m ŵJmobmMo OZH$ H$moU Amho?

A) H$mb© [aQ>a ~) ’o«$S>{aH$ aoQ>Pob

H$) Or. Q>r. {ÌdmWm© S>) Amë’«o$S> doJZa

96. Which of the following is the scope of Population Geography studies?

a. Current Population

b. Population Dynamics

c. Characteristics of Population

d. All of these

Imbrbn¡H$s H$moUVo bmoH$g§»¶m ŷJmobmMm Aä¶mg{df¶ Amho?

A) gÜ¶mMr bmoH$g§»¶m ~) bmoH$g§»¶m J{VerbVm

H$) bmoH$g§»¶oMr d¡{eï>>ço S>) ¶mn¡H$s gd©
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97. Which of the following factor is the part of population dynamics?

a. Migration and Population growth

b. Urban development

c. Educational development

d. None of these

Imbrbn¡H$s H$moUVm KQ>H$ hm bmoH$g§»¶oÀ¶m JVrerbVoMm ^mJ Amho?

A) ñWbm§Va d bmooH$g§»¶m dmT> ~) ZmJar {dH$mg

H$) e¡j{UH$ {dH$mg S>) ¶mn¡H$s Zmhr

98. What is the source for information of Birth and Deaths on local level in

India?

a. Population Register b. National Sample Survey

c. Census of India d. None of these

^maVmV ñWm{ZH$ nmVirda OÝ‘ d ‘¥Ë¶yer g§~§{YV ‘m{hVrMm ómoV H$moUVm Amho?

A) bmoH$g§»¶m a{OñQ>a ~) amï´>r¶ Z‘wZm gd}jU

H$) goÝg‘ Am°’$ B§{S>¶m S>) ¶mn¡H$s Zmhr

99. Which region in the world is famous for the distribution of population?

a. Mountains b. Plateau

c. Plains d. Oceanic islands

bmoH$g§»¶m {dVaUmÀ¶m ~m~VrV OJmVrb AmXe© àXoe H$moUVm?

A) nd©Vr¶ àXoe ~) nR>mar àXoe

H$) ‘¡XmZr àXoe S>) gmJar ~oQ>o
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100. GNSS stands for

a. Global National Satellite System

b. General Navigation Satellite System

c. Global Navigation Satellite System

d. General National Satellite System

GNSS Mo nyU© ên H$m¶ Amho?

A) ½bmo~b Z°eZb g°Q>obmB©Q> {gñQ>‘

~) OZab ZoìhrJoeZ g°Q>obmB©Q> {gñQ>‘

H$) ½bmo~b ZoìhrJoeZ g°Q>obmB©Q> {gñQ>‘

S>) OZab Z°eZb g°Q>obmB©Q> {gñQ>‘

rrr
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